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#include <stdio.h>
int main(void)
inth i, t, v
v = 100;
=5
h = vk Q
printf(’ MﬂE{%ETézl JLEFSA[J]¥n", 1, D))
return 0
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#include <stdio.h>
int main(void)

int i, sum;

sum= @

for (i= 1 |< @ i+ |

| sum= 3) +i;

printf "1H510FTOEIT=%¥n", sum);
| return 0;
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#include <stdio.h>
int main(void)
{
inti,
n=;
for(i=1; i<=8;
h=n*Q®);
printf("10D %d FE (&

fi g ais:
i++){

%d ¥n",i, ®);

}

return 0;
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#include <stdio.h>
int main(void)

int a, n:

printf (" ”%ﬂ’é’)\:ﬁ”)'
scanf ("%d”, @M );
a=n% @

il £ = 3“ ){

printf ("%dIZ{E%¥n”, n);

else|

printf ("%dIZZFE¥n”, n);

return 0;
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#include <stdio.h>
int main(void)

int i, n, kwa, gwa, wa,

kwa = 0;

gwa = 0,

printf (" n ==>");

scanf ("%d”, &n)

for (i=1; i<=n: i=i+2) {

| M =kwa + i :

for (i=2; i<=n: i=i+2 ) {
@ =gwa + i :

@ = kwa +

return 0;

printf(’ 4T§i0)*ﬂ Yd¥n BHOFI="%d¥n", kwa, gwa. wa);
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#include <stdio. h>
int main(void)

return 0;

1. n@
@ ("7 x % =%¥n",n, 7xn) ;

@ ANS[ for ] @ ANS[ <= ]

@ ANS[ printf ]

if XOFDFDOHFHMREFEEIRIL
if( a == b) ; a & b lFFuLLW&=

if(a = b)) ; a &b [FEELBNESE
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Do
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Do
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#include <stdio.h>
int main(void)

int n, kai, 1.

kaj = 1.

Drlntf( TEET HE n =)

D ("%d”, &n):

for (=2, i<=@); i++) |
kai = kai * @ .

}
printf ("%d! = %d¥n”, n, kai ).

return 0;
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